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1.  SUIEWEY, UGN g q9Rigd Ty VEd HROT
A, mmmmﬁﬁwmﬁﬁﬁﬁwm
9. SAaUBHR I STUEET TEHTT UHAGhS ATHN STw.
F.  SER T HIVEATE e T S ST A ATa.
2. gt SR T

IRt I .
(1) &, g (2) % F T
(3) % 31 amfor & (4) HHE

An astronaut in the satellite feels weightlessness because

the force exerted by the satellite floor on the astronaut is equal to zero.

a.
b. the astronaut and the satellite floor are attracted towards each other.
¢.  heis not attracted by any gravitational force.

d. None of the above

Answer Options :

(1) a,bandc {2) Onlyaandb

(3) Onlyaande (4) Onlyd

2. TS @Een ugdmel (fefes) sipmrs dom
. AT HeW W9 Wad Tdi.
¥,  @aa (faem) e gt ) 94,
%, aEad (fgae) ssangdn 3@ %W\,
3. quuH ol fgm (smaht) I ) deaedieT swin s,

FhHATY Ko T T 3R 2

WH’[T-E{:{:

(1) & 1 afor & (2) w9 AT
(3) A, Fafrs (4) ufie g4

In electronic communication system, digital signals
a.  do not provide a continuous set of values.

b.  represent values as discrete steps.

¢.  utilize binary system.

d.  utilize decimal as well as binary systems.
Which of the above statements are true ?

Answer Options :
(1) Onlyaandb : (2) Onlybandc
(3) a,bandc (4) All of the above
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3.  SYURhgehl Widell GET WHVE WHU HIT SorEgie 391 — 34 6V AR, e g www
FHarde I fepedt ?
(1) -1-51J (2) —34eV
(3) -=151eV (4) —136eV
Energy of the electron revolving around the nucleus in second orbit is — 3-4 eV. What
is its energy in third orbit ?
(1) —~151dJ (2) —-34eV
(3) -1-51eV (4) -13:6eV
4.  YHEEHE a9 8 Giefeidsh] IV FeEme JEma g ?
. WHETA WEdY Tera g, JHETA FETS qere
. RIS QU HARE A e 8. Tl SRR deata
quiHdt I
1) F,IAMIF  (2) FHH (3) wamfrsg (4) &FE
Optical fibre is based on which of the following principles ?
a.  Principle of reflection of light
b.  Principle of refraction of light
c.  Principle of total internal reflection
d. Principle of dispersion of light
Answer Options :
(1) a,bandc (2) Onlyc (3) bandd (4) Onlyd
5. ﬁﬁ%ﬂﬂﬁ% LU

. o Wil e F0 R v WG bl HUTIET A HAHG HAT.

q. el (Y TYET o1 FEeel) AT 7 R ofie FOmE AR g watd.

%,  HEEEOTT I HUTE (Y STHET Foor Wi THee) g Ih g .
T I

(1) 1 onfor 5 faum Besrensmiia gea aEa.

(2) o anfor ¥ frae 9% oda Ty  fum = AR,

(3) & fqum & o1 onfor 7 <ff sl an.

(4)  faum & o1 onfor 9 < wafrsad e,

Consider the following statements :
a. Beta particles are negatively charged and are more penetrating than Alpha

particles, which are positively charged.

b. Gamma particles are neutral and are more penetrating than Beta-particles.
c. In general neutral particles can be said to be having very high penetrating power.

Answer Options :

(1) a and b are universally true.

(2) a and b are false but cis true.

(3) cis resultant statement of a and b.

(4) c is not resultant statement of a and b.
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B T HIRITEY U] O WIelietiehl Hivedl Fiehe dadq gt ?
(1) wt e (@) Tt it o
(3) TUl TR It (4) WP TG T

During inelastic collision between two bodies, which of the following quantities
always remains conserved ? ‘

(1) Total kinetic energy (2) Total mechanical energy

(3) Total linear momentum (4) Speed of each body

7.  HUE JPhE FTadd feme kg AREifER T o faraw ot o w3

T AR ?
(1) e | g (2) HER SIRY
(3) EHia =l (4) Yavi digs

Name the transgenic crop in which three genes for synthesis of vitamin A are
introduced through the technique of genetic engineering.

(1) Kalyan Sona wheat (2) Sweet sorghum
(3) Hybrid bajra (4) Golden rice
8.  Trars A1 fheeshre T onf A wed fFR wEear e srgara ?
(1) 04 3ufir 04 (2) 10 3t 10
(3) 12 anfir 12 (4) 23 anfur 24
How many linkage groups are present in the female and male grasshopper insect ?
(1) 04 and 04 (2) 10 and 10
(3) 12and 12 (4) 23 and 24
9. Al TR TI.UH.F. AT O, AT TSRS WHRETT 8 2
(1) 3§ (2) @
(3) wiFa ) waa
Name the plant having H.S.K. or C, pathway of photosynthesis.
(1) Sugarcane (2) Groundnut
(3) Sunflower (4) Potato
10, WRAURY WEE W TR ROm ] () e weee fReed s ool
frreaam 2
(1) #igas= (2) smitzE =
(3) Fwm g (4) iR FAelt 73
Chemosynthetic bacteria obtain energy by oxidizing chemical compounds.
(1) Organic (2) Inorganic '
(3) Synthetic (4) Processed

LT FHTATHIS AR / SPACE FOR ROUGH WORK P.T.O.



www.dompsc.com

T12
11.  AFaT=a TS T8 7ed gOF SHIGuaTaT G UeThe HIvT ?
(1) Tooed flauiesm, qger il anftr sregfbeem
(2) Icgiitheeyd, TIgR ARy it fadwde Ratfeaidem
(3) FFegItheseM, faaiedta fafawidym anfor egsen fafmam
(4) TgIeR Tafwmam, faewds fefagfdam anftr sreafredem
In the nephron of man, what is the correct sequence of urine formation ?
(1) Selective reabsorption, tubular secretion and ultrafiltration
(2) Ultrafiltration, tubular secretion and selective reabsorption
(3) Ultrafiltration, selective reabsorption and tubular secretion
(4) Tubular secretion, selective reabsorption and ultrafiltration
12. @t s affeerdt ga=n miEe gieerRe s ?
(1) Rh* 959 9 Rh™ &t < faam (2) Rh 9% 9 Rh* @it 2 faamg
(3) Rh* %9 g Rh* @it 9 faamg (4) Rh™ ey 9 Rh™ &ft 3 fae
Which of the following situations will be fatal to second foetus ?
(1) Rh"* male marries Rh™ woman (2) Rh™ male marries Rh™ woman
(3) Rh" male marries Rh™ woman (4) Rh™ male marries Rh™ woman
13. G| el ol :
e g /AIREE
#.  femvefe I swfagE
9. HANBHIANA I Toas
&. fEwdefA ITI. fempen
5. femmmatE IV. diceend
it 3
H oq <h g
1y 1I 111 I v
2 II I I11 v
(3) III II v I
4) IV I I 1I
Match the following :
Respiratory Pigment Animal/Animal group
a. Haemoglobin I. Annelida
b.  Chlorocruorin II. Vertebrates
¢. Hemerythrin IT1I. Lingula
d. Haemocyanin IV. Mollusecs
Answer Options:
a b c
(1 1I I11 I
(2) 1I I 1II
3y III 1I v
4) IV 11 I
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14, 3t dq i ey wpe fagian oo wiefi faur wan e
. fagm weust i fieors 1 TReE! Aiea.

Ferieht s fum/faam v sa 2

it 39

(1) w® A 2 wHd

(3) =1 amfor = g (4) i &

Consider the following statements about sliding filament theory of muscle
contraction :

a. This theory explains the modern concept of muscle contraction,
b.  This theory was put forward by Huxley and Niedergerke.
Which of the above statements is/are true ?

Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb . (4) None of the above
15, wheRe S TR ge,
(1) %6 FESHATERES SRt Isal (2) W g Ul SRt us

(3) (1) T (2) B Uigsh R @cdTd T (4) TESIT Gohse 9T ISl

During calcination process _
(1)  Only CO4 is given out (2) Only HyO from hydrates is given out
(3) (1) or (2), depending on type of ore (4) H,S is given out.

16. @ W e mS
(1) ENTE Sy TRI= JUUdie @A qaw w0
(2 vEEtEF hifwn feem sregdom Tan s
(3) s wewmgn i safd/aam w0
(4 Tl 53 anftr g/ AR qatetrgE saTed TR w0

By green chemistry, we mean

(1) Producing chemicals of our daily use from greenhouse gases

(2)  Performing chemical processes which use green plants

(3)  Performing only those reactions which are of biological origin

(4) The use of non-toxic reagents and solvents to produce environmentally-friendly

products
17. Gl Sk qfe s 7t 2
(1) sfem FTe (BaCly) (2) RM z/@ FETEL (BCly)
(3) ahehom seide (BeCly) (4) ¥R g GARTE (BFy)
Which of the following is not a Lewis acid ?
(1) Barium chloride (BaCl,) (2)  Boron trichloride (BCly)
(3)  Beryllium chloride (BeCly) (4) Boron trifluoride (BFyg)
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18. Tl FIE & Hichaed Heaear A amed ?

7. fizma gfwm g,  gefHeE

. Hagad e g peEied 99

gaidt I

(1) =, Fafis (2) wafus (3) = (4) =g

The following are some of the properties of the colloidal sols :

a. Tyndall effect b.  Brownian motion

c.  Maxwell distribution d. van der Waals forces

Answer Options:

(1) a,bandc (2) aandb (3) aandc {4) bandd
19. Greha fedean faumled o fagm st smea ?

1. HF anfr H,0 & gfaw 930 e

. CH, 3 CO, & yfem g7t 7.

% CO, 3 SO, ¥ yfew vy Td.

gaift I

(1) ¥ anfn« (2) I F (3) 1 amfor % (4) A, g

Which of the following statements are correct ?

a. HF and H,0 are polar molecules.

b. CH, and CO, are non-polar molecules.

c. CO, and SO, are non-polar molecules.

Answer Options :

(1) aandb (2) bandc (3) aandc (4) a,bandc
20. EEATH Hivr sl IR qIR SHOAEE AR ?

s1. NH,Cl + Ca(OH),

q, NZ + H2
. C&CNz + Hzo
quidft I W :

(1) s (2) FaF= (3) = (4) o, FAMF
Which of the following reactants can be used to prepare ammonia ?
a. NH,Cl+ Ca(OH),

b. No+Hyp

c. CaCNy+Hy0

Answer Options:
{1) aandb ~ (2) bandec (3) aandc (4) a,bandc
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21. YR @A FEG — 1947 g2 GRYH GESN A Fiiedn SeaTeEas! Gt fau
feramoa o
1. dfaym o ol e FE .
¥, Giym o € w@ad wRaTe aRel ey s
%. Jog1 dfaum wwr faftniss geur o W IR, deq fo=a siwagET . TSR WER

.

T. dfyum ai=h age s 389 <1 qA-H 299 wa FHY S,

it I ;

(1) fqum 31, 9 anfor & 0 (2) fowm s, % 2nfor 3 St
(3) fagm =1, § anfor g s (4) M a1, & anftn g IO

Consider - the following statements regarding changes made by the Indian

Independence Act of 1947 in the position of Constituent Assembly :

a. The Constituent Assembly was made a fully sovereign body.

b.  The Constituent Assembly became the first Parliament of free India.

¢.  When the Constituent Assembly met as the Legislative body it was chaired by
Dr. Rajendra Prasad.

d. The total strength of the Constituent Assembly came down to 299 as
against 389, -

Answer Options:

(1) Statements a, b and c are correct (2) Statements b, ¢ and d are correct

(3) Statements a, b and d are correct  (4) Statements a, ¢ and d are correct

22. 1978 =41 44 = HAGE AUMEmER U smflamiien dewid Eefiaid o a@qg

Feref AT ?

(1) A= e Brerd e tged ota sofied 9ifva w5 v T,

(2) ‘vAmlq srwraar o1 WEe Gued serdl’ B WSS T ST

(3) IFeB] 19 @ IS - WE el AN B P qg AU THT HABEATAT
FHRUTETS TiYd Hodra neiedn afiefia Fefad @ 30, 9 s sromas

(4) mm&mﬁwﬁmﬁmﬁwﬂﬂrmﬁﬂﬂwaﬂmmm
Iquarg oty FO ot BIATEl Ff Wol Fel @ AU FONEn W Svart
YO 0 HETTF AR,

Which one of the following has not been provided by the 44th Constitutional

Amendment Act of 1978 relating to National Emergency ?

(1) A proclamation of National Emergency will not be issued by President unless
there is a written recommendation of the Cabinet.

(2) The expression ‘internal disturbances’ has been replaced by ‘armed rebellion’.
(3) The six fundamental rights under Article 19 can be suspended only when the

National Emergency is declared on grounds of war or external aggression and
not on grounds of armed rebellion. 4 :

(4) The President must issue a proclamation of revocation any time if any House of
Parliament passes a resolution disapproving of the continuance of the -
proclamation.

e HTHTATS! AR / SPACE FOR ROUGH WORK
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23, wrefle faum foamm o
. A TS "N ITUHdE Fas dugen gl aunren gge 33 st orft
. g gt
d. 1961 T 11 531 HIHIGREH Iwrgadtea fFadl ugd seemam e,
®. ITrgud R e wnEre $ee faffan aewren fagisemer S e
g. {jas Wew (Electoral College) 31q0 B 31 Hrvmeda Iwrsgydiar Heguphien mmegw
3 ¥4 A
gt I
(1) foum o, a R, &, T 9%
(2) faam 3, &, s TR, J 9%
3 fgm &, 9, s R, s
(4) four s, & 9O, A, T IH
Consider the following statements :
a. The original Constitution provided that the Vice-President would be elected by
the two Houses of Parliament assembled at a joint meeting.
b.  The 11tk Constitutional Amendment, 1961 changed the procedure of election of
the Vice-President.
c.  The Vice-President is elected by the members of an electoral college consisting
of the elected members only of both the Houses.
d.  The election of the Vice-President cannot be challenged on the grounds that the
electoral college was incomplete.
Answer Options:
(1) Statements a, b are correct, ¢ and d are false
(2) Statements b, ¢, d are correct and a is false
(3) Statements a, b, d are correct and c is false
(4) Statements b, ¢ are correct, a and d are false
24. TR TIYTASTS @ieficideh! hivfq fauH @ g ?

(1) A i 3feas srdmeie wem faum ofteder amiiciia o weard.

(2) q 3 e smddfter e g feum e awfEia s e,

(3) T TeReAT dT=eE 371 (2) = vy sl WeW Fuam STl 3.

(4) F TTITN TSR3 31 A Wil GHN @rl Wiemdr Sued Soaasd fauus
Tz femd TR 99 WA AR

Which one of the following statements about the Governor of Maharashtra is true ?

(1) He can nominate one member to the Legislative Council from the Anglo-Indian
community.

(2) He can nominate at least two members to the Legislative Assembly from the
Anglo-Indian community.

(3)- He has been given special responsibility under Article 371 (2).

(4) He cannot reserve the bill for the consideration of President, dealing with
compulsory acquisition of property under Article 31 A of the Constitution.

FoEg1 HETHIST ST / SPACE FOR ROUGH WORK
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25, WIHiadh! Fivl 1" Jood TTRI ?
(1) 11 fed=w, 1946 . FATETT Jge| GauE |va 3fessrEn U wsal.
(2) 29 AL, 1947 . e At e |
(3) 26 7ege, 1949 . uynda e GfeuE g onfer sfufEfim s @
ardur sheft, |
(4) 24 FHaTd, 1950 o EieE i geEr e afduETat wneen e

Which of the following items is wrongly matched ?

(1) 11th December, 1946 : Jawaharlal Nehru moved the Objective Resolution in
the Constituent Assembly.

(2) 29th August, 1947 : Drafting committee was set up

(3) 26th November, 1949 : The people of India adopted, enacted and gave to
themselves the Constitution.

(4) 24th January, 1950 : Constitution was finally signed by the members of the
Constituent Assembly.

26. U faftmEan ana woe faves UsadTe Usgudte feamud TEa 3 AT, Tt
. foeReTen ot <At S19ET AT T 39, v
. Uy faluaseme FHidarnd @ faugs wa geg wewam.
C®. TgTdiRgd Wd eiedn fatawet v ffimeen 9 nigem gfden $emm wizw
M0 SR et o Treires Ao hel o Teitar o |Hel 207 S ek 3.
T gAY i oee Rdws W T ffmsen TR Ao e W TsgedR e w|
FicrehY Hivre Ty sts emga ?
it IW

(1) Hanforg (2) A, gafrs (3 A, wamres  (4) I FoAME

In the case of a bill passed by the State Legislature, Governor can reserve it for the
consideration of the President.

a. The President may declare or withhold his assent to the bill.

b.  The President may return the bill for reconsideration to the State Legislature.

c.  State Legislature must reconsider the bill within three months and if passed
again it is obligatory upon the President to give his assent.

d.- In case of reconsidered bill which is passed again by State Legislature,
President shall declare his assent within a period of six months.

Which of the statements given above are correct ?
Answer Options :

(1) aandb (2) a,bandc (3) a,bandd (4) a,candd
FoEGT HTHRITS! SR / SPACE FOR ROUGH WORK P.T.O.
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27. WRAE FEEdH EiEde _ gee.
(1) FrEmE ST SRER ST SeATeHSar T oA e At
(2) THRICHSSIGR TR Hoad ATeicd] HIEE GHIon ATE T IUER oI Frrerdi=
(3) HREYR ATEAT ESTAT U4 Wi UeudrEl AT it Huedie o
Tt HfRR
(4) 3eaT™ Agd quW rget i yRmme) e ol goeers e [merE
AR
In India, Judicial Review implies
(1) The power of the judiciary to pronounce upon the constitutionality of laws and
executive orders.
(2) The power of the judiciary to question the wisdom of the laws enacted by the
legislatures.
(3) The power of the judiciary to review all the legislative enactments before they
are assented to by the President.
(4) The power of the judiciary to review its own judgements given earlier in similar
or different cases.
28. @l faumitd Fvw faum/A WY Tseed TG RO GHIase Ferelt e/ ?

¥ T oAU T e A s @ ardE wendie s gEean T e

g TIfE.
¥, ovrew vty Afmeaeh @t drmdl e e Rem te =AmndT |

Teeltn arger aE.
%, uEeen wera T orery w1 it uatren armen Wik
qait I : '
(1) Waa A (2) ®ad ¥
(3) =liwIdsh THEl ATE (4) FATrT

Which of the following statements is/are included as provision of the Indian

Constitution ?

a. The person to be appointed as Governor of a State should be a domicile of some
other State of the Indian Union. '

b. There should be at least one Muslim judge in the Supreme Court so as to
ensure its secular character.

c. The Chairman of the Public Accounts Committee of the Parliament should
belong to a party in the opposition. ‘

Answer Options :
(1) Onlya (2) Onlyb
(3) None of the above ' (4) aandb

FeeT BTSSRI / SPACE FOR ROUGH WORK
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29, wreite faum femmma wn

¥, "oy o TS faue wieg o, _

#. e o Tod Hed faum uftwg Fmin swasdE W Eeme) s oA

g faum ofweR Ili Hae 3 Aievfiga tediutewsy Faga sam.

et B Fa w2

qgidt I

(1) A «ars (2 wsafvs (3 Hamrs (4 Fars

Consider the following statements :

a. Odisha Legislative Assembly passed resolution for creation of Legislative
Council recently.
Currently, five States have Legislative Councils.

c. Proposals to create Legislative Councils in Kerala and Gujarat are pending in
Parliament.

1t members of Legislative Council are elected by registered graduates.

Which of the above statements are correct ?
Answer Options :
(1) a,bandec (2) bande (3) candd (4) aandd

30. Gl Fow/d fumA gE#e aRa ?
H.  Eeasd AfGva™ 30 PO HROTER FURA AR, § WL HE AT,
¥, WieEdd ARNvEE oUE TEd wed duggediE agdt & e g 198 e

wifiaeh anR.

F.  FAfREE 3UE THE] TES AR Al grad hwdrd el ey ggr R s
=39 Hdel el iR,
Seelt HEA WO HUQSAT GIdial SwnET=AT Wifdean =Y et .

u'afzﬁ'ﬁﬁ

(1) & (2) wHFH (3 = 4) #anfrs

Which one of the following statements is/are not correct ?

a. In Lok Sabha, a no-confidence motion has to set out the grounds on which it is
based.

b.  In the case of a no-confidence motion in Lok Sabha procedures of admissibility
have been laid down in Rule 198 of Lok Sabha.

¢. A motion of no-confidence once admitted has to be taken up within ten days of

the leave being granted.
d. Inltaly, the government requires the support of both houses of Parliament.
Answer Options :
(1) Onlya (2) Onlyc (3) bandc (4) aandd

TEeqT FMTATS! SIFTT / SPACE FOR ROUGH WORK P.T.O.
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31. vRdE Fated e @reftadst R faue g e 2
(1) 9z gey fafeq IRFm ey Srwe G o, Wq 3w e s
! gfasae el
(2) Ty Fated g T AYar gat § 9a7s e =Ty e 3R,
(3) Y& Mared ogFd & %de TR T 3.
(4) TR @ S gen et sged onft s Fatem ogea Jeams gave i e
T st e g s sl
Which one of the following statements about Election Commission of India is false ?
(1) Only the Chief Election Commissioner has a security of tenure but not to the
other Election Commissioners.
(2) The Chief Election Commissioner holds the position or status of a judge of the
Supreme Court.
(3) The Chief Election Commissioner is merely first among equals.
(4) In case of difference of opinion amongst the Chief Election Commissioner and
other Election Commissioners, the matter is decided by majority.
32, @l awqel faemd

A, YR TEUeT H{=9E 21 AR SUEE HAfdad Sifwa fear cufdm @ras
‘e A giRAfieR’ fREd aae ST A

¥, O TSUHeAT R 20 (2) THR HIVCAE] ATHa Uhie TEART8! THe Aftepest
FeeT Ireiae SR ATE anfor weprde srferpaest e feeft som .

%, ORIR TSEe FIE9E 14 AR YR YUE US4 Sl i SrEae gural

el Pl Tgg SR A 2

it I

1 = 2 3) = (4) SR TERE T

Consider the following provisions :

a. According to Article 21 of the Indian Constitution, no person shall be deprived
of his life or personal liberty except according to the ‘due process of Law’.

b. According to Article 20 (2) of the Indian Constitution, no person shall be
prosecuted and punished for the same offence more than once.

¢.  According to Article 14 of the Indian Constitution, the State shall not deny to
any person equality before the law or the equal protection of the laws within
the territory of India.

Which of the provisions given above is not correct ?

Answer Options :
(1) a (2) b : {3y ¢ (4) None of the above
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33, @i faure foamog = .

. Wmaﬁaz%mwmm&ﬁwmm
T A T T e AR,

9. YR TSUEe SeAT 3 3 I el SrgiRiE AR Heh TSATeAl T
*. mama@?ﬁaaﬁa3@ﬁméﬁﬁm%m?ﬁwﬁﬁmmm
FHerdhl B A A e/ 2

qgiEt S

(1) = ad (2) =i
(3) =afr= (4) T *

Consider the following statements :

a. Article 2 of the Indian Constitution relates to admission or establishment of
new States which are not part of the Union of India.

b.  Article 3 of the Indian Constitution provides for the formation of or changes in
the existing States including Union territories.

c. A Bill under Article 3 of the Indian Constitution shall be introduced only in the
Lok Sabha.

Which of the above statements is/are correct ?

Answer Options :
{1) All of the above (2) aandb
{3) bandec (4) Onlyec

34. oI% IO S9d Wieiidish PR faae st A 2

(1) =R #ar e sfifem (Legal Services Authorities Act) 1987 TET
GIECSIEICRIRHE B EE RS I R i

(2) BT Hees Fadier T FariHaa ~Afieh safed=r waa giq el
(3) waEEEH feoen yoiw Fofg g1 sidin omat anftr at 28 s suERE L.
(4) <ArpamEeEH e fly g Ramft e fdem Rasam st

Which one of the following statements about ‘Lok Adalat’ is incorrect ?

(1)  Under the Legal Services Authorities Act of 1987, Lok Adalats have Been given
a statutory status.

(2) Lok Adalats can be constituted of serving or retired judicial persons only.
(3Y Every award made by the Lok Adalat is final and binding on the parties,
(4) The award passed by the Lok Adalat is deemed to be a decree of a civil court.
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T GHEAT A= 3nfor Fee @1 Fedtd wiee e famma o

R T g fede 1953 aed Heft g,

§. AR YHETE EEE A ¥ B9 onf SRR o @9 dew e, sA.wmY amfr
e JEv 9 2 B

®. AN AT HHEETE 30 TS, 1954 Tl Frex e,

g T YA sttt 31 sAiree, 1956 Tsf ool s

g Ty g afufrae 1 Swad, 1957 Usht e ST,

FhAYH] HIoed faur I g ?

afedt 39

(1) sw,asfrs (2 W wafrg (3 wsAi () HFfre wE

Consider the following statements about the States Reorganisation Commission and

Act ?

a. The commission was appointed in December, 1953.

b. The commission was headed by Fazal Ali and two members of the commission
were H.V. Kamath and Govind Ballabh Pant.

¢.  The commission submitted its report on September 30, 1954.
The States Re-organisation Act was enacted on August 31, 1956.

. The States Re-organisation Act came into effect on January 1, 1957.

Which of the statements given above are correct ?

Answer Options:

(1) a,bandc (2) b,candd (3) b,dande (4) aanddonly

36.

e Ydesd! STad (Statue of Unity) @iefiadshl v faum gehi= 18 ?

(1) 182 Hiex 39 Tacien Uhad [6al B <A =47 TWaA cadwa qasana (Statue of
Liberty) AR gWZEEﬁET ITEH.

(2) gﬂam%ﬁﬁmw} e I & T TH U TR S stedEl wree

(3) 31 :m-qraat 2018 1 fiaw Ten agwwE Yed A 145 A1 FGEH FEUE W Fa
e,

(4) TR THE ATE

Which one of the following statements about ‘Statue of Unity’ is false ?

(1) The 182-metre-high Statue of Unity is twice the height of New York’s Statue of
Liberty.

(2) The height of the Statue in metres has been picked to match the total Assembly
Constituencies in Gujarat.

(3) October 31, 2018 marks the 145th birth anniversary of Sardar Vallabhbhai
Patel.

(4) None of the above
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37, wreha e feemmE e
q, Wmﬁaﬂﬁmgﬁﬂmﬁaﬁmmongbones)ﬁm.
F. TGS ZETETTET areiet § 99 @S (Flat bones) F1 32,
gt IW
(1) foum &, 9 st
(2) FumE, % W
(3) faum a1, $ W
(4) @ fogm s

Consider the following statements :
a. There are five types of bones in the skeleton.
b. The function of the long bones is to support weight and facilitate movement.

¢.  The function of the flat bones is to protect tendons from stress.
Answer Options:

(1) Statements a and b are correct
(2) Statements b and ¢ are correct
(3) Statements a and ¢ are correct

(4) All the statements are correct

38. YW REIRN Tl (NSG) I/aq Wiefteryeh! hivrd fare swie et ?
(1) YearIa T FESTER TeTd a1 &R Hgwml i,
(2) 2018 wlq YA WASER T 51 TFHR wEwril Tl
(3) 2018-19 T} T FHSIER TTCT=A1 LA} Tefeaan .
(4) o) o Frafaer srvamnEl wia &1 W] TEeRR e |t 8 $ieedl.

Which one of the following statements about Nuclear Supplier’s Group (NSG) is not
correct ?

(1) Initially the NSG had seven participating governments.

(2) As of 2018, the N5G has 51 participating governments.

(3) The NSG chair for 2018-19 is Latvia.

(4) India seeks to join the NSG to become an exporter of nuclear technology.
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39. ‘fow’ et wliweremsa e o

A 2014 L T fimet giwe

9. 2015 II. weer firm giwe

¥, 2016 1. f3amie forer wfwe

8. 2017 IV. 3% frer gfiwg

3. 2018 V. SErae et gfive

gafdt 39

N = & T 3

(1) 1II IIT v I A"

(2) 1I v I 11 v

3 I 11 111 v A"/

4 V v II I11 I

Match the pairs about ‘BRICS’ summit :

a, 2014 1. Goa Summit

b. 2015 II.  Fortaleza Summit

¢. 2016 III. Xiamen Summit

d. 2017 IV. Ufa Summit

e. 2018 V. Johannesburg Summit

Answer Options : ,

a b c d e

1)y 1II 111 v I A"

2) 1II v I II1 v

3 1 II III v v

4 Vv v II IT1 I
40.  YNTER Sidsives (geef) Ridas 2018 wrdta Encfiedsht S o g om 2

(1) = e o= 30 | I TrE S @ aigg odid STt ST,
(2 = fadeem yeemn vfesve rfufem, 1988 wter fafawu wadt seerewn sma.

(3) = fodmswm =mdl . we. dwE G s  @efta 21 s faf smim e

Rrersl |1 GHEY I AT TR,

(4) B FEHHT " QU AFRESE] g TR WeER Sidus HEey gHen

Which one of the following statements is false Wlth regard to Prevention of

Corruption (Amendment) Bill, 2018 ?

(1) The Bill makes specific provisions related to giving of bribes is now an offence.
(2) The Bill amends various provision of Prevention of Corruption Act, 1988.
(3) The Bill incorporates the recommendations given by the 215t Law Commission

headed by Justice B.S. Chauhan.

(4) By making citizens liable for offering a bribe to a public servant, the
anti-corruption law has been brought to line with UN Convention Against

Corruption.
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41. 31 SRaEd, 2018 U S Wi wimd e ol sy WA & wew agweedl frefl. W
deutdier @efia faam fa=w o
3. = T, G o e g <igmEnt & whr feast seren g oven awr €.
T, mm@ﬁmmmmﬁmwm‘@@’wmm
®. o ot 9 @ et Faren I fieke T deR o B U HaINE R

ary faumA
ﬂ'ﬂﬁﬁﬂ:
(1) ®& A (2) & 3 AW §
(3) wEEAMSH (4) %F M H

On January 31, 2018, a rare ‘Blue Moon’ event was experienced in large parts of the

globe. In that context consider the following statements :

a. It was a rare moment as a blue moon, a super moon and a total lunar eclipse
fell on the same day.

b. When two full moons appear in the same calendar month, the second is termed
as ‘Super moon’.

c.  When the full moon is at the closest point of its orbit to the Earth it is termed
as ‘Blue moon’.

The correct statement/s is/are :

Answer Options:
(1) Onlya (2) Onlyaandb
(3) Onlybandc {(4) Onlyaandc

42, wgos Gau AT QO 2018 STEd @Il [9UR e ol
3. WA SRR FEieps TSATe T9H et TR,
¥, HRAE eI gudl B TAE T e .
%, "EIgREA qan feas wdteps Ricgar e e g,
3. TgEgrEAn Ak fegam waifus e gsevmeee yuw e e o,
Tt I
(1) A, "W S (2 F,HAME (3 d,was (4 wHAwd

ggngider the following statements about ‘Swachh Survekshan Gramin Awards,

18 ..

a. Haryana was ranked as best State in India.

b. Maharashtra was ranked as second best State in India.

c.  Satara District of Maharashtra was ranked as best district.

d. Nashik District of Maharashtra was ranked first for maximum -citizens
participation.

Answer Options :

(1) a,bandc (2) b,candd (8) a,candd (4) All of the above

43. '@ (Tikka) T WigHia WieiieTdeh! dIoren (G 2l 2

(1) et (2) T® (3) w3 (4) ¥
‘Tikka’ disease affects which one of the following crops ?
(1) Cotton (2) Wheat (3) Groundnut (4) Rice
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44. @i faam e e
A T 2018 vd 167 THEY TR 1092 TOGH ANET TR AGTET IR
§. S gatie 54 IrTae anel wE el anga. (S 2018 ved)
%, WRATd 39 INIfae el T 3Ted. (Je 2018 3id)
T  Hug nde fegwdifas it defidia snfor swetenss ot swmdliean Tomem 2018 w=Y
SIfeeR IRET $9e TRV Wi svatd AT AT,
FlETH FvE faum sOet e 2
it I
(1) #H,9amfIg (2 9, &g (3 H,Fgafors (4) abdqd
Consider the following statements : '
a. Asof July 2018, a total of 1092 World Heritage sites exist across 167 countries.
b.  Italy, with 54 World Heritage sites has the most of any country (up to
July 2018).
c. India has 39 World Heritage sites (up to July 2018).
d. A collection of Victorian, Gothic and Art Deco bu11d1ngs of Mumbai are declared
as World Heritage sites in 2018.
Which of the above statements are correct ?
Answer Options:
(1) a,bandd (2) b,candd (3) a,bandc {4) All of the above
45. @l faum faemm o

H.  VRaTEl FHreA T gk Wil g9 HRe 1 IHaR, 2019 UEA g g
A7 gufea Femedard Fag s IR

3. gﬁmmmﬁmﬁwﬁﬁmﬁmﬁmmﬁmmm
188 T wnad .

%. ura g FgEl e e aeEt e aRweaR 2010 ~ 2013 #2013 — 2016 =
FHEREEE Hagar e g,

Fheieh IR faE/A 9 3TRd 2
aafdt IM ;
(1) %F A (2) Hara (3) FH & 4) =agd

Consider the following statements : .

a. India was elected to the UN’s top human rights body for a period of three years
beginning January 1, 2019.

b. India got 188 votes in the Asia-Pacific category, the highest number of votes
among all candidates in UNHRC election.

¢. India had previously been elected to the Geneva based Human Rights Council
for the 2010 ~ 2013 and 2013 — 2016 term.

Which of the above statements is/are true ?

Answer Options :
{1) Onlya (2) aandb (3) Onlye (4) All of the above
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46, TS gaified AT R S HIvET ? (I 2018 IFR)

(1) feams @FF) (2) w13 eEgenEe (HH)

(3) wHie () (4) ere (amfiE)

Which is the world’s fastest super computer ? (Up to end of June 2018}

(1) Tianhe (China) (2) Sunway Taihulight (China)

(8) Summit (USA) (4) Titan (USA)

47. @A B fumA e s/ 2
31,  WRAW =HEE SRR sEeen st adie dEEan 7 simye aqeelt T 3o

T MR,

¥, AT €WE sEee e TS AEEeR g S T gea aaEell A
3.

%, AR SO wRdRl 1751 7R ft. ol dmoswm @ s wew, Arnels, s
anfor Herer™ A1 TS T .

QWE?I:{:

(1) 3y (2) 31 anfor =

(3) o, gafur= (4) wF A

Which of the following statements is/are correct ?

a. India opens Zokhawthar immigration check-post in Mizoram along Myanmar
border.

b.  Zokhawthar is the second immigration check-post in Mizoram along Myanmar
border after Zorinpui check-post. -

c. India shares 1751 km long border with Myanmar which touches Arunachal
Pradesh, Nagaland, Assam and Meghalaya.

Answer Options :
(1) aandb (2) aandc
(3) a,bandc (4) Onlya

48.  Wichath Fvrd foum TR amR 2
(D) wiar ofeet wafar g 3§69 (bio-fuel) Teh fomm wrd anifin Sege quam @,
(2) HIAM a9 3T I 9 2018 3 UFT G0 AR FA R,

(3) &1 GRUTZER 2030 T WITHED 209% AT w0 FEH 3RS Javaia e AR,
(4) FFh T

Which one of the following statements is incorrect ?

(1) India’s first environment friendly bio-fuel powered flight flew between Chennai
and Bengaluru.

(2) India has recently released its National Policy on Bio-fuel 2018.
(3)  The policy envisages a target of 20% blending of ethanol in petrol by 2030.
(4) None of the above
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49. IFd= ‘THcge W (Bonnethead Shark) WET idmmed Fian, wEs @eie Aum
femamga & _ '
3. T VHEIH HYZ T4 (sea grass) Wil
4. o ygee fed memm arft eReh sgg see.
et Teoiedn sty am faumA s
Tt I '
1y $=H3H (2) H g
(3) = T I (4) ¥ It 9 I A
Recently ‘Bonnethead Shark’ was in the news. Consider the following statements
regarding this :
a. 1t mainly eats the sea grass.
b.  Itis mainly found in Indian Ocean and Arabian Sea.
Choose the correct statement/s from the codes given below :
Answer Options : '
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb
50. @reite foan fasmma =

A, Rarde Fivead e fasy oot smee T59 (Special Category Status State)
318 TR0 FOTEIST FITCE! ThR! alde Todsead quifase JTd.

9. U<y foem aiwe savem 1969 el Seg onfo ISR, 31am oniftr ArTete ar TS
T gt srreeh T wevE Wl feelt A,

F. ol TAIRE G ravad = et 8 909 Fdt & fadiw g@t emwewn
n%ﬁr Fg MEATRS R Il W I e ST Sedie g [ 60%

e Fvd faam/A e/ /A ?

It I

(1) % A (2) Rarfwrs

3) HFF (4) THAUR el TE

Consider the following statements :

a. The Constitution does not include any provision for categorisation of any State
in India as a Special Category Status (SCS) State.

b. The National Development Council first accorded SCS in 1969 to Jammu and
Kashmir, Assam and Nagaland.

¢. The Central Government pays 90% of the funds required in a centrally
sponsored scheme to SCS category States as against 60% in case of normal

States.
Which of the above statements is/are false ?
Answer Options :
(1) Onlya (2) aandb
(3) Onlye (4) None of the above
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51, Weue S TS 9 HeRE Sl Jeg Ao i ATl o A FEard el o T

< I S _ 1. f&

| FEET II. sma

®. UEHC-IH-NGHCIN . fayg

R IV, SR Y&y

it I

A C) CD =

Q1 W 111 II I

2 1 11 111 v

(3 1 I v 111

(4) III v I 11

Match the following governors of Muhammad Ghori and the territories where they
ruled almost independently after the death of Muhammad Ghori.

a. Yaldoz L. Delhi
b. Kubacha II.  Bengal
c¢. Muhammad-ibn-Bakhtyar III. Indus
d. Aibak ‘ IV. Afghan Mountains
Answer Options :
a b c d
1 IV 111 II I
(2) 1 II IT1 v
(3) 1I I v 11
4y III v I In
52. A9 @ Fem uwa R AlsEa .
1) 7w A g e (2) 2 A 3 g Tl W
(3) 3N 7% T wed A (4) = w7 e g ohifma &
In the Pre-Mauryan period India was known as .
(1) The Queen of the Eastern Seas (2) The Queen of the Western Seas

(3> The Queen of the Southern Seas (4) The Queen of the Erythrean Sea
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53. I U9 Wit 3 @ US I Siean &b
. Uede I. &

. e I 3z
®. U I gfag
s TER Iv. foemmm
gt 3w ;
kY| q & 3
(1) III I v II
2y I II1 II v
(3) II IV 111 I
(4) III v I II

Match the following dynasties and their kings :

a. Rashtrakut I.  Gopal
b.  Chola II. Upendra
c¢. Palas III. Dantidurga
d. Parmars IV. Vijayalaya
Answer Options :
a b c d
(1) 1III 1 v II
(2) I 111 I I\Y
3) I v II1 I
(4) 1III v I 11
54.  yFfie v Ta Ao €iner, favered wer qe 1 a1 I E He.
(1) e Syt (2) efeRe s
(3) ErawmT |l sl (4) widh A
It was the result of Achaemenid conquest that a new industryof ____ developed
in Indian borderland, specially in Kamboj.
(1) ship buiiding (2) blanket making
(3) handloom sari-making (4) utensils making
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55. sl Il : .
. HEEYET T I o SHEEY T SRgad H .
¥, T veasdl [I. ayte seafaeg we Rl amieeen MUedt THEHG bl
39 ¥ehell Tl
%, wHIgHET T I1I. aTeN ST SraTen Had U W uTEd.
g, gl T IV. iorea GRZTeAT 8= GRIeT That Yagd e Wy Hat A
Tefteft forams .
aidt I :
A o -3 B
(1 II I III v
(2) 1II I v I11
3 1 II III v
4 IV 111 I I1
Match the following :
a. The king of Kamarupa I Was already humbled by Prabhakarvardhna.
b.  The ruler of Sind II. Dared not detain a Chinese pilgﬁm at his

capital against the wish of Harsha.
c.  The ruler of Kashmir III. Was compelled to surrender a tooth relic to

Harsha.

d. The ruler of Valabhi IV. Had once fled before the advancing arms of

‘ Kanauj Monarch but later married his

daughter.

Answer Options :

a b c d

1 1II I 11

2 1 I v III

3 I I1 I1I

4) IV 111 I 11

56. I YR FIURN T HicaT SHIFTE WY Fogar ?

(1) hiFTeRE A (2 frewE Jeem

(3) WY AR (4) TEERS gd

Who from the following persons was not related to the State of Kolhapur ?
(1) Kashinath Rao Vaidya (2) Dinkarrao Javalkar

(3) Madhavrao Bagal (4) Dadasaheb Surve
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57. SIS go ;
A o). T I wenedf fodft veen™ ey wvE fagy s,
¥, Wed Higd Aot o 1L et feurees st w8 sioRn IgR S w@h
AT AT T NGEICELE
%, fagenmd wa I11. Ferhar HeTdR Tev[ fFaga 3o,
g faigm IV. i & e,
gt I .
A q <h k4
(1) II v I ITI
(2) 1 II I1I v
3 v IT1 II I
(4) III I v II
Match the following :
a. C. Rajgopalachari I.  Was elected as the President of the Central
Legislative Assembly.
b. Madan Mohan Malviya  II. Kept himself busy with constructive
and Lala Lajpat Rai programmes such as upliftment of Harijans.
c.  Vithalbhai Patel III. Was elected Mayor of Calcutta.
d. C.R.Das IV. Criticized the Swarajists.
Answer Options :
a b c d
(1y 1II v I II1
(2 1 II II1 v
3 1Iv 1 11 I
(4 I 1 v II
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58. YdIe T HIE FUiA F AR ?
. T TF oW .
9. Ol aEiaY e o A .
F. 1945 Twre seH e fifirem Fem 3y sfecen SR ¥ e O
T ¥ g figmed 8.

it I
(1) 3593 (2) YMNE <@
(3) 3&331!191%3141% (4) FIRE T

Who is described in the following sentences ?

a. He was an author from Pune.

b. He used to go in the colonies of the untouchables and teach them.

c. In 1945 he was the president of the function arranged to celebrate ‘Amhedkar
Jayanti’ at Kalyan.

d. He was a supporter of H1ndu1sm from Pune.

Answer Options : :

(1) D.K. Pethe - {2) Mamarao Date

(3} S.M. alias Bapusaheb Mate (4) Krushnarao Marathe
59, Wi Yo :

A W mEgm e L SRl @ g g de fea

9. oA i I =0 il e

. qfeq faamy st 1. el gavF Wi o gues
T,  gREBMY el IV. ‘Feft wifedt’ o

TRt I
A ) h g
1 1w III IT I
(2) II v I IT
3) I IT ITI v
4 1 I v III
Match the following : , .
a.  Pandit Ramkumar Vidyaratna 1. Wrote English articles for newspaper
‘Bengalee’
b.  Krishna Kumar Mitra II. Was a Brahmo missionary
c.  Pandit Shivnath Shastri III. Editor of Bengali newspaper ‘Sanjivani’
d. Dwarkanath Ganguly IV. Wrote ‘Kuli-Kahiny’
Answer Options:
a b c d
1) v III II I
(2) III v I II
(3) 1 I1 III v
4 I 1 v II1
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60. @i fayrn foar = 9 3oty 9 w3y faer ?
3. ARTCTHTAH TUTYeg el WA Heft=t 72,
9. AN SUIeT Holat 9iEe 9 fig ar e FerE e e
F. OFTETRIEE 9y efien faesht e s,
3. TANTAHICH T Shelat SIvT=e YU AT,
Tarel I
(1) faum o1 Filew o/ 9, % onfor T gehef faue oz
(2) & anfer & faum g aga &1 sl % e amea.
(3) o, F o1 % faum s 347 s THE IR,
(4) & fagm stEt g o1, 7 onfvr % gehreht faens anea.

Consider the following statements and choose the correct answer options.

a. Mughal architecture is of Indian style.

b.  Mughal architecture was influenced by both, the Persian and Hindu arts.
c.  There is an impact of foreigners on Mughal architecture.

d. Mughal architecture was influenced by no one.

Answer Options:

(1) Statement a is correct, but b, ¢ and d are incorrect.

(2) bandd are incorrect, but a and ¢ are correct.

{3) a, band c are correct, but d is incorrect.

(4) dis correct, but a, b and ¢ are incorrect

61. I T} AT HICTHHATTHT Hisvlt .
. QT A ST F T
9. GO Fig A1 S HOEE STl
®.  wiE grEioEt 91w |
T. W Pgag Sl e demeaEre wnen 19 fig wfe swfavera .

Wﬁ?ﬁ:
(1) #,8, %, 3 (2) 9,1, 8, %
(3) A, 8,8, % 4) A, T, %, 49

Arrange the following incidents in their chronological order.

a. Muslim League was formed in Dhaka.

b. Khudiram Bose was executed.

¢. Bomb was thrown at Lord Hardinge.

d. Hindu Conference was held at Lahore, under the Presidentship of Sir
Prafulchandra Chatterji.

Answer Options:
(1) a,b,ed (2) b,adc
(3) a,b,d,c (4) a,d,c,b
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62. wrltedeh S fagm o soag Fenft dedia gen ?
: A, favmEm C AL
F. A g gm
Tt 3w 7
(1) e T anfor & (2) %ud A, § NPT H
(3) wF A, F s (4) shawd
Who from the following women scholars were related to the Rigvedic Period ?
a. Vishwavara b. Apala
c. Lopamudra d. Ghosha
Answer Options:
(1) Onlyaandb (2) Only a,bandc
(3) Onlyb,candd (4) All the above
63. YA HIA YHRH ARG Wigad 9w fveaen Jef 9@ o ?
A, WRAW w0 Fa @aedr few et anfr et sifeea v a Fae do.
¥, WA AW WieawRrREl .
%, feme Ed s e e
3. & wem doeen satala =W
Tt I
(1) w3, % A3 (2) E 3, ¥ N H
(8) 3, ¥, FAME (4) o §, & M0 S
In which of the following forms was India’s capital and wealth transferred to
Britain ? ‘
a. Salaries and pensions of the British civil and military officials working in
India.

b.  Profits of the British capitalists in India.
c.  Expenses of the Indian government in Britain,
d. Interests on loans by the Indian government.

Answer Options :
(1) Onlya,candd {2) Onlya,bandec
(3) a,b,candd (4) Onlyb,candd
64. R faeis =ehY sfear
(1) vHwE 34 (2) MY IS
(3) goefisrsl e (4) v fa e
Pick out the odd person from the following :
(1) Shankarrao Deo (2) Gangadharrao Deshpande
(3) Pundalikji Katgade - (4) Bhaskar Vishnu Kale

ETT BIHRITSE ST / SPACE FOR ROUGH WORK P.T.O.



www.dompsc.com

T12 A
65. =T FAAHT e Yem e Hae T S SR T Sgeis,
TRyEL, 9 fqea, R 92 snfor gorn fiasmear=ar el TR st fyesfas 29
(1) g =i 1 (2) TR 1
(3) =g III 4) Taspariees IV

The generals of conquered land upto Ganges, while his admirals
established their authority over several overseas territories including Ceylon,

Nicobar islands and parts of the Malaya Peninsula.

(1) Rajendra Chola I (2) Rajarajal
(3) Someshvara III (4) Vikramaditya IV
66. TW & M TW F IJreAT AT S ool ¢
WY A (FaHeSEdt) WY & (Ha®)
#. A TRk I St
g, Ioohl-3cudl IR II. Heed
%.  TEHU ThehedH III. SRR
T, Wl giweTT IV, s
ot IW
AH g & T
(1) 1II I 111 v
(2) 1III 11 v I
3 Iv 111 II - I
4) 1 II v I11

Match the pairs of Column A and Column B :

g

g

d.

(1)
(2)
(3)

Column A (Origin of Solar System)

Nebular Hypothesis
Meteorite Hypothesis
Planetesimal Hypothesis
Tidal Hypothesis

Answer Options :
a b c d
II I III v
111 II v |
v III II I
I I v III

(4)

Column B {(Inventor)

I
II.

IIL
Iv.

James Jeans
Moulton
Lockyer
Laplace
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@, Fomaifee . ¥ e A8
%, fafay serdie e 3. Eommie st
il I
(1) g (2) «omfrg
(3) 33U ® (4) FMUS
What are the evidences in favour of the Continental Drift Theory ? Select the proper
option ? ’
a. Jigsaw fit b. Trans-current faults
c. Fossils in different areas d. Convection in mantle
Answer Options :
(1) aandd (2) bandd
(3) aandc (4) aandb
68. W faum qiterer w0 it @ v e

far 3’ : gedrn SiemE w1 fre onft g Fr=ATEg S AR,

frrr ;g & e, sieafifam anfi AR Tw T SR o
et T |
(1) foum ‘o onft ‘T’ S wlR amEq.

(2) Taum ‘& sl o frum T 9% Iw.

(3) faum ‘o7 9% e faum T w0 IR,

() faum ‘® anfir ‘T =6 o= ama.

Examine the following statements and select the proper option.

Statement ‘A’ : Inner core of the Earth is made up by Nickel and Ferrous.

Statement ‘B’: The Earth’s crust is made up of Silica, Aluminium and Magnesium.
Answer Options :

(1) Statement ‘A’ and ‘B’ are both correct.
{2) Statement ‘A’ is correct and ‘B’ is wrong.
(3) Statement ‘A’ is wrong and ‘B’ is correct.

(4) Statement ‘A’ and ‘B’ are both wrong.
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Qreftel fauri=t aean qumEn, i wrefiadh i faym siet 3R 3§ e

By 37’ TEETe TR Sl WEHURT Sl 318,

Ry q ;. cEET= vaEla sHiee wewE Fifd seemuEien siwed e rem
TETAT G Felel! a77g,

iy 3w

(1) fagm ‘&7 onfer ‘& Q) sO= amza.

2y fagm ‘& anfor ¥ ara"rig-ﬁ aﬂ%ﬂ,

(3) Tqum ‘3 ot o foym ‘9’ 9% IR

(4) faum ‘&7’ 9% omd faqum 9 s oTR.

Examine and identify the correct statements of the following :

Statement ‘A’ : Deccan Plateau is made up of Basalt Rock.

Statement ‘B’: The origin of Basalt Rock on the Deccan Plateau is due to the

deposition of lava erupted from volcano.

Answer Options:

(1) Statement ‘A’ and ‘B’ are both correct. '

(2) Statement ‘A’ and ‘B’ both are false.

(3) Statement ‘A’ is correct but ‘B’ is false.

(4) Statement ‘A’ is false but ‘B’ is correct.

70.

oAy

WY o1 for WY« e A I g ¢
W I (FEHTAT THN) WY T (TSH)

sfeffic s ess 1 T6E&
FEC GEh
TS

siafafda sfive= ===+ IL
AT TSH I1L.
AT @gh IV. S
qtrh“r‘ﬁﬁ

H o Cd B

(1) 1 111 v II
2y IV I 11 III
(3) 1III 1I I v
(4) 11 III v I
Match the pairs of column A and column B :
Column A (Type of Rock) Column B (Rock)
a. Extrusive Igneous Rock I Dyke
b. Intrusive Igneous Rock II. Arenaceous Rock
c. Sedimentary Rock 11I.  Graphite
d. Metamorphic Rock IV.  Conglomerate
Answer Options :
a b c d
(1) 1 It v I1
2y 1Iv I IT II1
(3) 1III IL I \Y
(4) I 111 v I
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71. mmwwwmgmmmmwwm
wfefa whgs woeh o, amn drg i e

G- ATRAT oy Ll wAA
W e aa
@) femd B ELy TG
@ & A femdt HAGART
(4) wHgE femTdt & Ei

The following figures are the Relief Features’ created by external forces. Select the
proper option from these relief features created by external forces.

U-Shaped Valley Gorge

U-Shaped Valley Gorge Barkhan Arch
(1) Wind Glacier " Seawaves River
(2) Glacier River Wind Sea waves
(3) River Wind Glacier Sea waves
(4) Sea waves Glacier River Wind
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T o1 nfoT 9 I wiigr e 9 gate faae.

e oy’ ENRAIT Jvrar IR 35% I %ﬁmwmﬁwm

o ?g"@ﬂm‘éﬁwqmﬁﬁmwaﬁ%m

g’ 0], TR YfeTHuT, @, et e faehior @ woadT BRTs
IS THYABUGR SR T3 et a?m

(1) ﬁw‘m’aﬁaa—aww BAEIEE R eyl r

(2) ﬁm‘m’mﬁla‘cﬁ—aww "% 2 9 v AL

(3) faum ‘o 9w g faum T’ sEe :m% |

(4) faum ‘m’mwﬁm‘a’ma@.

Examine the statement A and statement B.

Statement ‘A’ : 35% solar energy is not useful for the heating of Earth’s surface as
well as atmosphere, that heat is called “Albedo of the Earth’s surface”.

Statement ‘B’ : Through Short Waves, Scattering and Reflection process of the air
molecules, heat is transferred by the small dust particles, clouds and
earth’s surface in the space.

Answer Options:

(1) Statements ‘A’ and ‘B’ are both true and ‘B’ is the correct explanation of ‘A’

(2) Statements ‘A’ and ‘B’ are both true and ‘B’ is not the correct explanation of ‘A”.

(3) Statements ‘A’ is true but ‘B’ is false.

(4) Statements ‘A’ is false but ‘B’ is true.

73.

R o & g
(1) IV I 111 I
(2) III II 1 v
3) I1I II1 v I
4y 1 v IT 111
Match the pairs of column A and column B :
Column A (Local winds) Column B (Reglons where they are found)

a. Chinook I.  Alps mountains in Europe
b. Fohn ' II. From South Europe to Mediterranean Sea
c. Loo III. Plain area of North India
d.  Mistral IV. Rocky Mountains in North America
Answer Options:
a b c d
1 IV I III II
(2) MHI II I v
(3) 11 III v I
4) 1 IAY I I11
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] THR WHE
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H,  TEdE g& :
q. e gl II. %5
%. ﬁa PEl 11 g
T IV. g™
A

AH T * i
(1) I I v m
2) IV II II I
3 1II I III 1AY
4) I v I IT

Match the pairs of column A and column B :
Column A (Soil Type) Column B (Crops)

a. Mountainous soil I Cereals
b. Black soil II. Cashew
¢.  Desert soil III. Apple
d. Laterite soil IV. Cotton
Answer Options :

a b c d
1 1 II v III
(2 Iv I1I II I
3 1 I II1 v
(4) 1I v I II

75.  Sieel A A YA HesT ¢
Rz

TEH
A, TieE WiH weH I FaaETss, TS
9. o A wes 1L gEdEr), S
%, ot HofR s 101 e, g
g famaiRees V. 9g¢

qatdl Im
H C} h )
(1) III II 1AY I
(2) IV I II II1
3 1 II1 II v
4 1I I III v
Match the pairs and choose correct option :
Rock District
a. Gondwana series rocks I.  Yavatmal, Gadchiroli
b.  Dharwar series rocks II. Sawantwadi, Vengurla
¢.  Archean series rocks III. Bhandara, Gondia
d. Vindhyan series rocks IV. Chandrapur
Answer Options:
a b c d
(1) III II v I
(2 Iv I IT I1I
3 I III II 1A%
4) 1I I II1 v

T AT ST / SPACE FOR ROUGH WORK P.T.O.



T12

76. 9 Jisd YA I v e,

H,

9.
5,
5.

www.dompsc.com

TSI Iigel 39U Cohaay +rg

TRl Ol ferggetontor greten wigen frea,
TeRTe e ufge arl=r e

HRRSgIter vfgel STAfeea sy

qgel I

(2)
(3)
(4)

H o

I III
II v
I i
III 11

IT
III

e

II

Match the following and choose the correct option.

a.

Maharashtra.
b.

in Maharashtra.
c.
d.
Answer Options :

a b
(1) 1 I11
(2) II v
3 1 ITI
(4) III I1

15t Satellite communication centre in

District having complete electrification

15 earthen dam in Maharashtra.

15¢ hydroelectric project in Maharashtra.

II

III

v

v

II

I. Wardha

II. Gangapur (Nashik)

I1I. Arvi

IV. Khopoli (Raigad)
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A

L
#A. W
9. M
% wa&u
CR
it I ;

3 =
(1) I Iv
(2) III II
(3) 11 I
4 IV I

IL.

IIL

Iv.

II

III

HISTE

HIHH
RICE
kS

RELIT

v

II

Match the appropriate pairs of Rivers and Cities on the river bank.

River
Panzara
Dham
Pravara

Tapi

Answer Options :

(D
(2)
(3
(4)

a b
III v
I I
III I

v I

IL.

III.

c
I
I
I

11

Cities on river bank
Sangamner

Bhusawal

Dhule

Pawnar

II
v
v

II

T2
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farer (37) ; TadtE ST ST WA BATE aTeqE B UETHIE IR YA TR,

it : |

(1 (30 mﬁr(r)a‘r—amw (V) 2 (37) = e oo oM.

(2)  (37) 3nmfr () <t o argg () 7 (31) 2 Frae wsdter Ardl.

8) (31 ) T e faum (1) sme an%.

4) (a1 )maﬂqﬁm(t)ww@,

Given below are two statements, one labelled as Assertion (A} and the other labelled
as Reason (R). Select your answer from the following options.

Assertion (A) : Air transport is a very useful means of transport in mountainous
and hilly regions for all.

Reason (B): 1t 1s very costly and difficult to construct roads and railways in
mountainous regions.

Answer Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
{8) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

79.

éwaimﬁﬂﬂﬁé?ﬁaﬁa(m)%ﬁﬂww(t ) § FRU AR GefE @A I s

fargr (37) ; Trdviinge e wRAeEsaETEE < SHIV aed.

FAOT(T): 99 Soml TRWETGWW TRIgR W 3@ TR HEIG deml WA WWEMD
HETSEATFES |1 919 Bl

gt I ;

(1) (31) smfn () G T o7gd (V) # (31) @ o i ame.

(2)  (31) snfty () St we 31gT () 7 (1) < Torreps wasdiontor gl

(3) (& )Wamjﬁtm()maq%.

(4) () ¥uey gy g (T) 97 2.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the following options.

Assertion (4) : Deforestation results in the increase of concentration of carbon
dioxide in the atmosphere.

Reason (B):  Forests utilise carbon dioxide during the process of photosynthesis
for manufacturing of food.
Answer Options:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.
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(1) I o=gg = (2) =1 W IR
(3) A5 AW an 4) gfan

Observe the map and find the out the correct option of blowing winds.

(D South-West monsoon winds (2)
(3) South-West trade winds (4)

North-East monsoon winds
Polar winds
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81. gierE Irg=a qiumHT = Hewide faae
A, 1970 wd mae g 100 aufd 1° 9. 3 qEe agd 2.
§. e 20 9Nl 9T JEEE X 100 uid 10° ¥, HH dTed TR,
%, A ey Temmgan wT wehd sEd.
g ud A aradiar @ Hiaan aea 8.
e Taumr $ht wa/wo faam ste smed ?
it I
(1) h A A0 § FH (2) h % M E TR
(3) th  FUH (4) W A, F A 3 FUT
Study the following statements about Greenhouse gases effect.
a.  Our planet was heating at the rate of 1°C per 100 years, till 1370.
b.  Since last 20 years, the planet has been warming at the rate of 10°C per
100 years.
c.  Most of the glaciers in different parts of the world are retreating.
d. Frequency and effect of El Nifio is increasing.
Which of the above statements is/are correct 7
Answer Options :
(1) Only a and b are correct (2) Only c and d are correct
(3) Only bis correct (4) Only a, ¢ and d are correct
82.  SiTSe Heza
w1 w11
(=it foegare (3tel)
GIEIREURFLY)
A, wHEU W I %90 e
9. WO wu LR =t i e 1 L R PR A G
F. gl 1. it fada sae
8. dfarEE IV, SR et e
Tt I
A ) < ES
(1) 10 I I1I v
(2 1II I v ITI
3 1 I 111 v
4) IV ITI IT I
Match the following :
Column 1 Column II
(Waste Disposal Method) (Meaning)
a. Sanitary landfills 1.  Burning of waste
b. Incineration II. Deposit the refuse and compost it with bulldozers
c. Pulverizing I1I. Combustion in absence of oxygen
d. Pyrolysis IV. Spreading the waste on fields
Answer Options :
a b c d
(1) 11 I IT1 v
(2) II I v 111
3 I II I v
(@ v I II 1
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¥, GEATHET I HEHEE T
¥, SAYAHIET ST TG Uads IAaard
%, GENGERIST gaH Seiiel fede 9% wiemd
T  wma il gen Qe TR aauT ST HTE SO ST S
Tl H aform s F=7T ?
it I
(1) % 31, 9 3fr % sA; (2) & 3 M % s
(3) % &, & A g TR (4) &, 9, % AN T TR
The effects of aerosols on climate is/are
a. They directly reflect sunlight back to space.
b.  They indirectly make clouds brighter reflectors.
¢.  Aerosols have a net cooling effect on climate systems.
d. Human generated aerosols offset the impact of global warming to some extent.
Which of the above effects is/are true ?
Answer Options:
(1) Only a, b and ¢ are true (2) Only a and c are true
(3) Onlyb, cand d are true (4) a,b,candd are true
84. NI AHE A WA WA FITT HEcaT=T e HRONYT 33,
(1) &< wguo (2) I wgEu
(3) & wew (4) f yEEm
Which of the following is the major cause of poor health in Indians ?
(1)  Air pollution (2) Water pollution
(3) Noise pollution (4) Soil pollution
86. 1992 = fant & SR A o whwedier Safafeu deder wm et Foen

ARG 31T ATl ?
(1) 19 fed=r 1993 (2) 1ufiem 2000
(3) 571992 (4) 29 fed= 1993

The Earth Summit of 1992 at Rio de Janeiro resulted into a Convention on
Biodiversity, which came into force in which of the following date ?
(1)  19** December 1993 (2) 1%t April 2000

(8) 5t June 1992 (4) 29th December 1993
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(1) 3. Gt 37 Fegareras

(2) TR figfer snftr wi. ==

(3) . foemw Atvam anfur wi. 97 TR

(4) 3. Imed B9 ST 3. &y

To whom is the Nobel Prize in Economics in 2018 awarded for their contribution in
sustainable and long term economic development ?

(1) Prof. Solo and Samuelson

(2) Gunnar Myrdal and Prof. Rajan

(3) Prof. Willam Nordhaus and Prof. Paul Romer

(4) Prof. Amartya Sen and Prof. Basu

87.

TEF Ul d Ao aiEaTeal Hhedl aTdt A Sl e ;

. Amifae g I =EE o faaeh amfor wima 2400 IsaeR T wigdt wema
2100 IHTH fUawaas JF9 e [y
5. sftiE e I afgarde i@ (gigarda dwat)

. aarsmwuﬁ?ﬁqua)Hi. e o feaul serEE! 2250 ISRET Wi o fien
€. of TRet o T 1@ IV, 1973-74 =1 feudigan ST e AfE e weme
¥ 49-09 it wgh ¥ T 57 smEREE i@d T

it I
HF o & 3.
1 I IT III A%
(2) II I v II1
(3) III I II v
4) IV III I II
Match the author/committee and their poverty concept :
a. World Bank I.  Per capita per day, the availability of food
in village 2400 calories, in city 2100 calories.
b.  Shri Gaurav Datt II. Poverty gap
c. Lakdawala Committee III. Availability of food is less than 2250 calories
(1993) per day
d. Dr.Dandekar and IV. According to 1973-74 prices, who do not get per
Dr. Rath capita per month in village ¥ 49-09 and in city
¥ 57 for food
Answer Options:
a b c d
1y 1 I1 I1I v
(2) II I v II1
(3) III I II v
4y IV 11 I IT
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(8) wHE (4) Fha wd

Prices of which of the following commodities are considered in Wholesale Price Index
(WPI)?

a. Primary Goods

b. 0Oil

c. Manufactured Goods

Answer Options :

(1) Onlyaandc (2) Onlyaandb

(3) Onlyb (4) All of the above

89.

1.E1. 3fte (1960-61) i gigEs=a g Qe wiva ey fmm daen gan ?
(1) wfa =xht, wfa a9fEn, em sem

(2) wia ==, sy Afgn, Iovm &=

3) I

(4) = T

Which of the following criteria was considered by P.D. Ojha Committee (1960-61) for
calculating poverty line ?

(1) Per capita, per month income

(2) Per capita, per month consumption expenditure

(3) Both of the above

(4) None of the above

90.

ad QAT J4 NREHE I AR Fave Jaeih SR o ?
(1) wEqS-TY < eI WHToT

(2) W aavEH-TgS qwTE e ST

(3) =ha A=

(4) I

Which of the following are the indicators of the contribution of government in the
process of Inclusive Growth ?

(1) The Revenue-GDP ratio

(2) The Public Investment-GDP ratio
(3) Both of the above

(4) None of the above
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91.  ISHI Hrdid, 1951 7 2011 A1 FIeRgsroN Feuia qeie faum faramma .
H. ST AFUTY IS 9N U T1g Sefl, Wit 3eime fafefet s,
9. HWW A, et i anftn fagm, e g wew e,
F.  gIigE 9 e Yo S FeE 19 A
g I9% 9 Hudrd fehgientn w0 anftr enfiles W et St v I e,
FAUH Hive fana Teg 3mRa ?
gt 3wy
(1) 9, &frg (2) 9o ®
(3) Aty (4) ®Is
In the context of planning era i.e. 1951 to 2011, take into consideration the following
statements :
a. Food production increases fourfold, diversified industrial growth takes place.
b. Import substitution, diversified export promotion and science and technical
educational expansion takes place.
¢.  Achievement in reducing poverty and unemployment ratio.
d. Reduction in concentration of economic power, decentralization of income and
wealth takes place.
Which of the above statements are true ?
Answer Options:
(1) b,candd (2) bandc
"~ (3) aandb (4) candd
92, WriETH HU HEEAS THE w2 7757 ?

(1) orfemiEh anfor g I S=eA

(2) wEfE maft e g

(3) TEHEE FHt HO

(4) Ft MvETar g HO

Which of the following is no# a millenium development goal ?
(1) Eradicate extreme poverty and hunger

(2) Achieve universal primary education

(3) Reduce child mortality

(4) Ensure agricultural sustainability
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93, T srgwEar Fgaiwmed (GIL) il Fvrd Hehier FUEY gl ?
H,  WOHET EHEY
q.  HEAHO!
. HH dNR
T I :
(1) & & AT«
(2) ® 9 AT F
3) H®E
(4) A, 9, ® AV
Which of the following factors are included in Gender Inequality Index (GII) ?
a. Reproductive Health
b.. Empowerment
c. Labour market
Answer Options:
(1) Onlyaandb
(2) Onlybandec
(3) Onlyb
(4) a,b,ecandd

94, IITIHEAE WEETAl ", onfdw adimdt w@refieild wiodl/amvea S IgE

TTR/aATR 2

. 7% o T, U Wy
&, 36T 9 wmar g i usfie
et T :

(1) &m A i | (2) ™H & A0 3.
(3) af=th word T 4) e

Which of the following scheme/schemes is/are useful for socio-economic growth of
minority communities ?

a. Nai Roshni b. Padho Pardesh
c. Learn and Earn d. Nai Manzil
Answer Options:

(1) Onlyaandb (2) Onlycandd
(3) None of the abbve (4) All of the above
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95. 2012 wsd Rj 2ou‘rqvnqawiaﬁhmaaﬁ%m SDGs) S 3neft. =iqEr
o e A A T Y 38 (SDGo
A, TIER 39, sEAHdfasg g, famye aamEr.

3. IR 9 fagm TRTHIR 9 76T T80T, )

%. @ fr ST WfEH, TTegaT S FEarE Tt e .
3. il TUeTeR 9 ST THIARRATIE §el,

it 3w

(1) % & o 3 (2) & I, 9 o1 &

(3) ®*S (4) HwHA

In June 2012, according to Rio +20 declaration, Sustainable Development Goals

(SDGs) were decided. Which of the following features was/were not decided ?

a. Poverty eradication, fight against unequality, gender equality.

b. Health and educational reforms, ocean and forest protection.

c. World partnership for sustainable development and effective structure for
follow-up and review.

d. Ban on terrorist organisations and attacks on other countries.

Answer Options :

(1) Onlycandd (2) Onlya,bandc

(3) Onlyd (4) Onlya
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As per the 2011 census, match the cities according to their population.
Cities Population (In millions)

a. Greater Bombay 1. 87

b.  Delhi II. 141

c. Kolkata 1. 163

d. Chennai IvV. 184

Answer Options :
a b c d
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(2) 1 II I v
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The LPG model of development was introduced in 1991 by then Finance Minister
(1) P.V.Narasimha Rao (2) Pranab Mukherjee
(3) Dr. Manmohan Singh (4) P. Chidambaram
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Under the Eleventh Plan, some of the monitorable targets reflecting inclusiveness
include
a. infrastructure b. environment
c. income and poverty d. education and health
Answer Options :
(1) Onlycandd (2) a,b,candd
(3) Onlye (4) Onlyb,candd
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Pradhan Mantri Jan Dhan Yojana (PMJDY) for financial inclusion was launched on
which date ?
(1) 16™ May 2014 2 15% May 2014
(3) 28" August 2014 4)  18™ November 2014
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The scope of land reforms includes
a.  Abolition of intermediaries
b.  Tenancy Reforms
¢.  Ceiling on land holdings
d.  Organisation of co-operative farming
Answer Options:
(1) Onlya ' (2) Only b
(3) Onlycandd (4) All of the above
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